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GENERAL

1. The documentary film making movement
that began in France during 1960’s is
known as
(A) Film Noir

(B) Direct Films
(C) Unscripted Movie
(D) Cinema Verité

2. Asper PWCresearch organization’s global
survey, the financial growth of Entertainment and
Media industry in future will be powered by:

(A) Advertising

(B) Consumer Spending

(C) Spread of Podcast

(D) Satellite Communication

3. Theexpression of emotions by men
and animals as stated by experts
like Charles Darwin established:

(A) Verbal Communication
(B) Non-verbal Communication
(C) Speech Communication
(D) Visual Communication

4. A learning model that combines
conventional face to face communication with
non-conventional electronically produced learning
inputs is called:

(A) Constructivist learning

(B) ICT based learning
(C) Blended learning
(D) Open learning

S. In a group of members with different
backgrounds, the barrier to communication among
them primarily rises from:

(A) Dress design
(B) Ethnicity

(C) Colour blindness
(D) Food habit

1. 1960-93 & T 9AHa AMET @
SICWIET F ZERE, ©IF I
(A) T e
(B) ©izw@s e
(C) SEbe Jfo
(D) BT cef
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6. Which of the following is not usually found
in both thesis and research articles?

(A) Introductionand Acknowledgements
(B) Method and References
(C) ISSN and Impact Factor
(D) Results and Conclusions

7. The parameters for ‘National Institutional
Ranking Framework’ in India are:

(A) Teacher Student ratio; Research
Projects; Placement; UG, PG and Ph.D.
Programmes; Outreach Programme

(B) Teaching, Learning and Resources;
Perception; Views of Stakeholders;
UG, PG Students; Resources

(C) Teaching and Learning; Research;
Views of Students; Research Projects;
Funding; Information and
Communication Technologies;
Perception

(D) Teaching, Learning and Resources;
Research and Professional Practices;
Graduation Outcomes; Outreach and
Inclusivity; Perception

8. Identify the correct pair related to research
from the following:

(A) Rationale of the study — Emergence
of the study
(B) Methods — Procedures
(C) Abstract — Summary points
(D) Discussion — Generalizations

9. Independent variable in research:
(A) Can be manipulated
(B) Remains constant for a study
(C) Cannot be measured
(D) Can only be counted

6. 5 Shfe @At RFF ¢ sEReEs
20w NGRS (7 T 72
(A) ol @32 e
(B) “M&fe U3 ©P@
(C) ISSN @3 2I1E (34
(D) TEITe] @R TP
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TifER @NSAF 97 2T 2=

(A) 3 2@ SEoe; SaRe 2w,
fFrferad; 38fe, foifer war fo193p.fC.
(RS, TPkl 07D
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oo o eoaEmenf; 36fY, e
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[T HA; AT aresd; wifes;
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(B) (e SRR 27 AT
(C) WA TR A1
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10. External criticismin the evaluation of source
materials for historical research refers to:
(A) Usefulness of the source material
(B) Ease of access to the material and
1ts content
(C) Accuracy and trustworthiness of
the content
(D) Authenticity and genuineness of
the document

11. Identify the characteristics of aconstructivist
classroom from the following:
I. Community of learners are present in the
class.

00

10. @fxfF o@RedT JoRE ‘GBI
fehen qe1cs R
(A) T TAMIR LGS
(B) Tl @32 @7 Razaes AeeeTers
(C) Ravws s@ws! a3 fepiiere
(D) I W= AToret @3 SIFfaTel

11. ‘SISt FHieEs-ae By s Ao
s 23 | AlGE TR WS T

1. QaRIaPTE FIe1 ToIfge A

IL.
I1I.

Classroom environment is competitive.
Classroom environment is interactive and
supportive.

IV. Classroom is dominated with

II.
I1I.

IV.

e~ dfoiareyeTe
FhEET Afaes sefafasg-szes
LT

viftgalie Rl SO FoY FCE

empowered teacher.
V. Classroom environment is
cooperative and activity based.
Choose the most appropriate answer from the
options given below:

(A) 1L IV, V
(B) IL III, IV
(C) LI,V

(D) I, 1V, V

12. Find the missing character in the diagram
from the given alternatives:

5 3

(A) 100
(B) 81
(C) 64
(D) 121

V. FERGR 2R TR rEe a3 S
Afn
fsferiie eare (A e Teg e e
(A) 1L IV, V
(B) I, III, IV
(C) L1IL V
(D) I 1V, V

12. 2ve 5 Seaid (@2ifog (A oie w)2ifo

AR P
5 3
7 144|49 4
2\.7|36,5
8 1
(A) 100
(B) 81
(C) 64
(D) 121
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13. In the context of students’ appraisal,
‘PARAKH’ stands for:

(A) Performing, Accelerating,
Reviving, Aspiring and Knowing
Humanistic Approach

(B) Performance Assessment, Review,
and Analysis of knowledge for
Holistic Development

(C) Performance Accreditation, Review
and Acquiring Knowledge for Human
Development

(D) Performing, Assessing, Reviewing
and Aspiring to know Development
of Humans

14. Ifinacertainlanguage, POPULAR
is coded as QPQVMBS, which
word would be coded asGBNPVT?

(A) FAMOSU
(B) FAMOUS
(C) FASOUM
(D) FOSAUM

15. The data given in the following table
summarizes the monthly budget of an average
household. The approximate percentage of the
monthly budget not spent on savings is:

Category Amount (Rs.)
Food . 4,000
Clothing . 1,200
Rent . 2,000
Savings . 1,500
Other Expenses .. 1,800

(A) 10%

(B) 14%

(C) 81%

(D) 86%

7

13. 2q JETRER @FFcs ‘PARAKH Al
I Ol 267

(A) iR, SrwEEmi, frezfer,
AR Sre @itk ZEtte
SUj[€A)1)

(B) “Fwac™ SyiePer, (et wnw
i o) qETe w1 @RS
(TS D

(C) ARTFACT SRFCFCH, [fos
IS SRR TEe w7 R
(TS

(D) “N=hik, SpeAPR, fethir =ne
SIAARIGR T Nl (TS )
B

14. 3% @we©=E, POPULAR-GF QPQVMBS
CFICT 2T 41, OI2sT GBNPVT-(SF (Sl (FICO
(GRIRSE

(A) FAMOSU

(B) FAMOUS
(C) FASOUM
(D) FOSAUM

o

15. Rk st el (@61 @36 27
sAfgicas MFRe e’ FRHERY ARPRE | b
JIETH4, 7T ARTS, TR *OIH T

A7 #1309 (Rs.)
YRIE(Food) 4,000
CANCE ... 1,200
ITI® . 2,000
AL ... 1,500
jiey A<D ... 1,800

(A) 10%

(B) 14%

(©) 81%

(D) 86%



16. Find out the missing letter in the table from
the given alternatives:

A|Z|B
Y| C
? |W|E
(A) B
(B) D
©) K
D) Vv

17. Twostatements (I & IT) and four conclusions
(1,2, 3, & 4) are given below:

Statements : (1) All green are blue
(II) All blue are orange
Conclusions : (1) Some blue are green

(2) Some orange are green
(3) Some green are not orange
(4) All orange are blue

Choose the correct answer from the
following options:

(A) Only (1) and (4)

(B) Only (2) and (4)

(C) Only (1) and (2)

(D) Only (1) and (3)

18. Identify one of the disadvantages of
Geothermal Energy source from the following:
(A) Good for the environment and reliable
source of Renewable Energy
(B) High efficiency
(C) ‘Little to No’ Geothermal System
Maintenance
(D) Environmental concerns about
greenhouse emissions
19. Identify the clean energy source from the
following:
(A) Coal
(B) Petroleum
(C) Geothermal
(D) Natural Gas

7-7 00

16. @ve 31 (A AR SRR Se A
T

A|Z|B
Y

@)

(A) B

(B) D

€ K

(D) VvV

17. T v S (1 & 1) ¢ R[S 2z foot
vl P (1,2, 3, & 4) (e =&
RS (1) @ RE 9=

(I) 7] &1 T
(1) fog e 7Age
(2) fog w5t 7w
(3) forg e Tl
(4) ¥R I A

el R @ 70 Teb e
P

P

(A) ®y (1) 9 (4)
(B) ©Y(2) 93 (4)
(C) 'y (1) @R (2)
(D) ©¥y (1) 93 (3)

18. AafiRe @b fTeanis wafsa Se=
@36 srifaat i bfere wat o @1t ==
(A) SRR ATF TA@IN @k TS Ee
GifErs fSacisy S
(B) T FiEwel
(C) a5 @ fere it b e
(D) Tz e R sifaasiare e

19. faxfaResfm e e Rva«feasote
%ﬁ'{ﬁ Fpel:
(A) 3T
(B) co@Ifras
(C) TEreanfa

(D) ez s
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20. The Doha Amendment of 2012 is relevant
to which of the following?
(A) The Environmental Protection Act
(B) The Montreal Protocol
(C) The Paris Agreement
(D) The Kyoto Protocol

Read the following passage and answer Question
Nos. 21 to 25:

Today the revolution in biology that began with
the discovery of genes more than a hundred years
ago has led us to a crossroads. For the first time,
recentresearch on the fundamental causes of aging
israising the prospect not merely of improving our
health in old age but also of extending human life
span.

Demographicsis driving ahuge effort toidentify
the causes of aging and to find ways to ameliorate

its effects. Much of the world is faced
with a growing elderly population, and
keeping them healthy for as long as
possible has become an urgent social
imperative. The result is that after a long period in
which it was a scientific backwater, aging
research—or gerontology—has taken off.

In the last ten years alone, more than 300,000
scientific articles on aging have been published.
More than 700 start-up companies have invested a
combined many tens of billions of dollars to tackle
aging—and this is not counting large, established
pharmaceutical companies that have programs of
their own.

This enormous effort raises a number of
questions. Could we eventually cheat disease
and death and live for a very long time, possibly

many times our current life span?
Certainly some scientists make that
claim. And Californiabillionaires, who
love their lifestyles and don’t want the
party to end, are only too willing to fund them.

The immortality merchants of today—the
researchers who propose trying to extend life
indefinitely and the billionaires who fund
them—are really a modern take on the prophets of
old, promising a long life largely free of the fear of
encroaching old age and death. Who would have

20. 2012-7 @R AN fewa @i A
AR 2
(A) T GTSZITEOE (2T SN
(B) ft T=iet G
(C) ™ =nfs™ @l
(D) T FEE G

oA SERVD AR @R 21 (AT 25
RS ATHF Ted e
AT Q0| T2 A9 G RAHAE X
IE GRESEAE @ AfRRSE o
SR %ET, Ol SISt SR G A A WIS FRIECE |
@2 22, QTR T SR ToF Ao aicamen
I I R T @ GG (R AT e
ooy
TR W Enl qdER ek wae
F(@ O 2ol fTREed o2 4 e 7=Ts 2@ |
AT S RN JaE T ASI 7 AR
AT G AT 6 20 WG | 97 T 28 (¥,
e Pt Ay TifFe eitarelt A A afE
R sl fobet %l (A (@9 2R AR GR
beT BR(Z |
91 el A AT T Fomie Feitaas @t
FeEis 2% AP 2R | Ao -8
@ Ted sifecm ed wEN-Afed
G @Il wiwd @R TR Ay
ferrel focnel Seate— @9 @bl Ol 49
0TI AR 7, S € F4 7 GG -2
IR 3ol FE Sl @ |
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el @3 wf FEEe | R miEEE W
@Iboifodt, T SR FREGIAE SIERIET @]
S IR B 0, O @ e Sreffecis) 20 |

TN AR JANN—5IT2SF, T
2817 Tz, (@ Ol GIF S MERICES
ey AfES TN (5B T2 AR (Fgelfoa,
TR (Sl o, ot etz
G Yfes Sryial (WIfRg) A Fmwe Fl0 S [0,




this life? The tiny fraction of the population who
could afford it? What would be the ethics of
treating or modifying humans to achieve
this? Andifitbecomes widely available,
what sort of society would we have?
Would we be sleepwalking into a future
without considering the potential social, economic,
and political consequences of humans living well
beyond our current life spans? Given recent
advances and the enormous amount of money
pouring into aging research, we must ask where
this research is leading us, as well as what it
suggests about the limits of human beings.

The coronavirus pandemic that hit the world in
late 2019 is a stark reminder that nature does not
care about our plans. Life on Earth is governed by
evolution, and we are yet again reminded that
viruses have been here long before humans, are
highly adaptable, and will be here long after we are

gone. Is it arrogant to think that we can
cheat death using science and
technology? If it is, what should our
goals be instead?

21. What prospect is raised by recent research
in Biology?
(A) Gene discovery and therapy
(B) Revolution in Biology
(C) Improve healthin old age and increase
life expectancy
(D) New medicine and surgery

22. Gerontology is the:

(A) Study of old and aging

(B) Knowledge about old people
(C) Search for reasons of death
(D) Study of living and dead

23. What proves that gerontology has become
a vibrant area of research in Biology?
(A) Discovery of genes
(B) Publications and start-up units
(C) Increase in old age homes
(D) Evolution in Biology

00

GF @F AT AR TR 2lfexsfs g @3k
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21. GRR®T Arefes siaral & erormi
oI ?
(A) G wiifiwg ¢ Bfee
(B) SRRGIE SIe Afass
(C) T FEA T € Gl AN I8
(D) e @74 @ WepiFe

22. A 7 ¢
(A) 7 ¢ A [ags o=l
(B) I S AACE @l
(C) T T eIl
(D) GIf® @ o REz=s aIaell
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24. What are the consequences the author
foresees about research on old age and extention

of life span?

24, A ¢ G oi@RelF Ao Rea
(FV4F AN e (4TS 2Ivae 2

(A) S fTs

(B) Jad hofeoiszm a7l ez
(C) R FaTe e

(D) SNL-AMEE @ Ao g

(A) Funding issues

(B) Hospitalization of old citizenissues
(C) Freedom of life issues

(D) Socio-economic and political issues

25. What, according to the author, the nature 25, (ETUCFE SEPIE &?@ TR FeRFIaT
warned the human beings? M

(A) Natural virus is everywhere

(B) Nature lives forever

(C) Nature disregards plans of human
beings

(D) Nature protects human beings

(A) 7R3 e Gl TETT

(B) @gfe Seiel (Jb AP

(C) =Ffs TR AR Srol I
(D) &S e Tl

26. A young adult who spends considerable
time with video games, social media and other
internet governed activities is called a:

26. (@ 3L TG’ S(=w6] 7T fofve
cars, Tl SIfea @3 ey

(A) Techi

OG-S TR 78 6,

OICF 61l W
(B) Screenager ) G
(C) Net-native
(D) Net-migrant (B) ftTena
(C) 5-Ibe
(D) (B-122rG

27. ldentify from the following a benefit which
Intranet does not provide:

27. TG AREA! (0 @[ ofhemi am 7,
fsferiie s (2 o Bize .

(A) Cheap, easy and safe service

(B) Share data among consumers without
delay

(C) Secure space to store and develop
applications

(D) High security passwords

(A) T8I, 712G € Jafwe oAfFEal

(B) SIfR(H SIS v (K (B! AR

(C) “Shif2cIa Tz 1T 43R R
ey fwiom ZIe

(D) Tw-f=iere simres



28. Given below are two statements. One is
labelled as Assertion (A) and the other is labelled as
Reason(R).

Assertion (A) : Computer can do computing and
teleconferencing.

Reason (R) : Computer with internet
connectivity and having proper
software can do computing and
teleconferencing.

In the light of the above mentioned statements,
choose the most appropriate answer from the
following options:

(A) Both (A) and (R) are correct and (R) is
the correct explanation of (A)
(B) Only(A)iscorrectand(R)isnotcorrect
explanation of (A)
(C) Only (A) is not correct and (R) is
also not correct explanation of (A)
(D) Both (A) and (R) are not correct

29. In a collaborative teaching-learning
environment, the teacher plays the role of:

(A) A facilitator
(B) A friend
(C) A guide
(D) A trainer

30. Find the missing character in the
diagram from the given

alternatives:

29| 9 W 213
(A) 117
(B) 36
(C) 32
(D) 49

7-11 00

28. dis wiv fs mewl ==, T GIHE
(Assertion) (A) €% SO If& (Reason) (R) Il
@O AS:

TEI(A) : FITHA BB 9 Glemawiahi
A0S T |
fE (R) : TOIACEIE TR I3R TS AFL IR
@ FTH1IT AT H @k
GIeTRFTrIE ™19 7 |
ffoufer St fFafive ey
(A A5 Tealt st e

(A) (A)€ (R)Te33 55 9 (R) T (A)-470
A A

(B) (@G (A) Z5 5% @R (R), (A)-43
AT A

(C) ©YNT (A) &1 4R (R) € (A)-43 AT
A 7T

(D) (A) 4<% (R) 422 &1

29. IRl @ PIRleRes RS T
AR s @ SNl et e
NIEGE
(A) GG FRTOFIG!
(B) @& I%
(C) 9G] 0GR
(D) G 2 FE

30. =we el (A (@IE Sy ARITF T

(A) 117
(B) 36
(C) 32
(D) 49
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31. Thecriteriaagainst which students’ progress
of learning in different curricular areas could be
assessed are known as:

(A) Learning Contents
(B) Learning Objectives
(C) Learning Outcomes
(D) Learning Experiences

32. From the following, find out the group of
letters which is different from the others:

(A) EGIK
(B) PQST
(C) TKNO
(D) MORS

33. A five-credit course with two credits
assigned for lectures, one credit for tutorial and
two credits for fieldwork shall have the following:

(A) Two 1-hour lectures, one 1-hour
tutorial and two 4-hour fieldwork per
week

(B) Two 1-hour lectures, one 2-hour
tutorial and two 3-hour fieldwork per
week

(C) Two 3-hour lectures, one 1-hour
tutorial and two 4-hour fieldwork per
week

(D) Two 4-hour lectures, one 2-hour
tutorial and two 2-hour fieldwork per
week

34. Ina group of cows and hens, the number of
legs are 14 more than twice the number of heads.
The number of cows is:

(A) 5
(B) 7
(©) 10
(D) 12

7-12

31. e Raee sidrees R dioe Fee 2aife
JHTE T G (@ I [OIRSIR 1ol 11 2, O 251
(A) P Reae
(B) fria Srmly
(C) Wiz #Ifzeirsy/werzes]
(D) FEpi Sifves]

32. faxferfowfs (@ @ SrwEs ol sy
(A for ©f Wefa e

(A) EGIK
(B) PQST
(C) IKNO
(D) MORS

33. 55 @ @FeT 7T o, 9F (@ es

BTGB!, oI 7 (e Es Rroenid-« i AW, Ol 25

(A) 2fsALIE 1 7T YT EoE, 90

1 961 oI @R 7' 4 961

froend

(B) dfo iz 1 96w v’ @=Twbi4, 9hid

2 ¥R BeGiRReE ¢ 7' 3 o™
froenF

(C) =f® AYIZ 3 TG ' @767, 9

1 9617 Bewmifae ek w6 4 96
froenF

(D) fe ARIE 4 TR W' EFoE, 90

2 95w Hewifae ek vt 2 9b&
froend

34, «f5 oISt @R TR Wi, AR R ML=
TR fawe (A 14 @M | oS A7 21

(A) 5
(B) 7
(©) 10
(D) 12



35. A certain country has 504 universities and
25951 colleges. These are categorised into Grades
L, II, and III as shown in the given pie

charts.

What is the percentage, correct to one
decimal place, of higher education
institutions (colleges and universities)
that falls into Grade II1?
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35. o6 AW oo 504 & ffmem @<z
25951 15 w2fwreTs q@ez | el “iE BI @ 1,
1L, II-cS c=ifelam <1 2@ |

ferpl effevicr (rifRwier 3z Reifwler)
*oFql Il @ [11-9 #ite, v & =i BIE
AIFeN BoNa T |

Universities

=

7%

@ Grade |
Q Grade I
#* Grade 1T

Colleges

%

68% }3
1

& Grade I
£ Grade I
» Grade III

(A) 227

(B) 237
(C) 150
(D) 668

36. Consider the diagram given below:
English
E Hindi

Mathematics

Five hundred candidates appeared in
an examination comprising test in
English, Hindi and Mathematics. The
diagram contains the number of candidates who
failed in different tests. What is the percentage of
candidates who failed in at least two subjects?
(A) 0-078
(B) 1-0
(C) 68
(D) 7-8

[RRIRIGE] PRURLIEES
@ Grade ] Grade 1
QO Grade IT “ % Grade IT
#* Grade I1T 63% » Grade I
€A )
(A) 227
(B) 237
(C) 150
(D) 66-8
36. 5 (red @2ifoaft feane <
e Q
&% &%
AN
sAo*e 21 ¥ 3R, o @k sifdices sarwR

i (7 | (@ifbafs [ o e v et anffiom
AT (7T | FACE 7o R e 2@ e Ao
*OPl T PO ?

(A) 0078
(B) 1-0
(C) 68
(D) 7-8

[ Please Turn Over ]



00

37. Match List-1 with List-11 :

List-1 List-11
(Data Type) (Data Description)

(a) Nominal data (i) can add and substract
but cannot multiply
and divide.

(b) Ordinal data (i1) can add, substract,
multiply and divide.

(c) Interval data (iii) can arrange orderly.

(d) Ratio (iv) cannot perform
mathematical
operations.

Choose the most appropriate answer from
the following options:
Codes:

(@ (b)) (© @
@A) @ G aGi)  Gv)
B) @Gv) (@) (@) (i)
© G @ Gv) (iD)
D) @) G @O Gv)

7-14
37. OIfam- @32 OIfFF-I1 O3 e e [gie
e
el eIl
(CT5! Bz (COB1R Fefell)

(a) T (©H! () e @32 s Face
A g 8 932 o6l

! |
(b) €A (OB (i) o), facasl, @d @]
RRESEIE
(c) TBIASIA (O (iii) TP Tl T |
(d) e (iv) siififes et
(operations) F41 I
ol
s emafe @ w1ifts Soge Tea
bize T :
ﬂg? :

(@ (b)) (© (@
@A O G G Gv)
B) @Gv) (@) @) i)
© Gy @ (Gv) (D)
D) @) G @O Gv)



38. In a survey, 300 respondents were asked
whether they own a vehicle or not. If yes, they
were further asked to mention whether
they own a car or scooter or both. Their

responses were tabulated below:

Men Women
Car 40 34
Own vehicle | Scooter | 30 20
Both 60 46
Do not own vehicle 20 50

What percentage of respondents do not own a
scooter?

(A) 83.33
(B) 48
(C) 55
(D) 68
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38. 36 ANEF 300 TEIVOI feree i w1 e fea
SIne felerg Tieies Stz 6231 (712 | 9 271 =, sins
{1 fereetl 41 2@ed, (@ wimd SN 1 6l
Y512 =CE & 91 | oivE Teawlr wAfiiaae Twa
Afeite e 24 |

ogR | e
QI 40 34
ferers T | o 30 20
LG 60 46
fery Fimas w2 20 50
o T TEAMTO FOIA (72 ?
(A) 83.33
(B) 48
(C) 55
(D) 68
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39. Given below are two statements: One is
labelled as Assertion (A), and other is labelled as

Reason (R).

Assertion (A) : Data Governance sets internal

standard data policies that apply
to how data are gathered, stored,
processed and disposed of.

Reason (R) : Data Governance maintains

certain principles to make
effective data governance which
are: (i)  Accountability;
(i1) Standardized rules and
regulations; (ii1) Data
stewardship; (iv) Data quality
standards; and (v) Transparency.

Inthelightofthe above statements, choose
the most appropriate answer from the
following options :

(A) Both (A) and (R) are correct and
(R)isthe correct explanation of (A)

(B) Both (A) and (R) are wrong

(C) Only(A)iscorrectand (R)is wrong

(D) Only (A) is wrong and (R) is not
proper explanation of (A)

40. How many triangles are there in the figure

below?

(A) 5
(B) 6
© 8
(D) 10

7-16

39. i 70! [ (statements) GFHE TE7

(Assertion) (A)
AR |
J&<7 (A)

S I (Reason) (R) Il

(O] ST STer@dle i (Tl
iz @ FE-1 (Thl 7ReE,
MR, e @R WEET T

G 7 |

Jf& (R) : (OO Sfoa-97 FfoET zo
() wiferg; (i) stiewferm @ f&faaet;
(iii) COBIHAEH91; (iv) (BB el

@G22 (v) FvZel |
fsferiie Remef @@ e Ted (@@ T
(A) (A) @R (R) MBI w7 @R (R), (A)-43

A3 qefen

(B) (A) 93 (R) U(BIE oo
(C) ©g (A) ¥z 932 (R) 8T

(D) Y (A) Sw7 @R (R), (A)-a99 Al
ol T

40. Sv3 oo Foul Tow aa=?

(A) 5
(B) 6
©) 8

(D) 10
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41. Arrange the following universities as they
evolved, in ascending order, in post-independent
India:
I. Technical University
II. Open University
III. Teacher Education University
IV. Agricultural University
V. Petroleum University
Choose the correct answer from the options
given below:
A) ILIL IV, V,1
B) IV,IL LV, I
© V,ILIL LIV
(D) 0L L 1v, v, I

42. NEP2020recommends toincrease
the Gross Enrolment Ratioin higher
education including vocational education in 2018
to the expected said Gross Enrolment Ratio in
2035
(A) From 24-3% to 45%
(B) From 23-6% to 48%
(C) From 32:6% to 40%
(D) From 26-3% to 50%

43. Which one of the following is essential to
obtain a4-year UG Honours with Research Degree?
(A) Securing 160 credits including

12 credits from a research project
(B) Securing 160-credit in general and

12-credit from a research project
(C) Securing 75% marks and above in the

first six semesters

(D) Successfully completing a research
project in a minor or major discipline

41. FHTO-Ted oW fafaie
el ZieR TNEe o ave [k (A
HAIG P

1. G TeReiRih
I1. s Tefeiti
1. o5 @y 2efrelfo
V. aftimesiae 2efrelh
V. corgifras et
RIS REm el (A Toe Ted (@3
e
(A) IL LIV, V, 1
B) IV, ILL 1, V, 111
(C) V,ILIL LIV
(D) 1L L, IV, V, II

42. NEP 2020 T @ @3k Jfeqers R
2 QARG (@IS’ 2018 (AF 2035-9 (T *@igs
FERESIRIEIGACEGE

(A) 24-3% (AT 45%
(B) 23-6% (AF 48%
(C) 32:6% (AF 40%
(D) 26:3% CTF 50%

43. B & FSF S 72 s fofa wrercara
oy fwferfie s T @b e 2
(A) @3 9ItFell 2 12 (Feb 72 160
(I sfef <l
(B) ‘(STIICeT -4 160 (FTT @ 9[(qael 2FCs
12 (FfE )¢ w1
(C) 2 =0 CIEROE 75% @ o (I
T e
(D) @3 N w2t ‘@rers feiHfze-
Q@ ATFE A GF0 @R &
AT T
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44. Identify from the following the learning
contents in Professional Education Program:
(A) Principles, Skills, Techniques,
Applications and Language
(B) Principles, Practices, Techniques,
Skills and Applications

(C) Core Concepts, Principles,
Techniques, Applications and
Practices

(D) Core Concepts, Language, Principles,
Skills and Applications

45. Studies of Near Eastern and Far
Eastern societies and cultures,

language, people, history and archaeology is known
as:

(A) Western Learning
(B) Unorthodox Learning
(C) Oriental Learning
(D) Semitic Learning

46. Find the missing number in the following
series:

48,24, 72, 36, 108, ?
(A) 115
(B) 216
(€) 121
(D) 54

7-18

44. T el (A grree g
(AT -9q R s SamiaaE b

(A) faiforster, e, (hfere, wmifarsia
GR SRS

(B) fefstent, analoem], Gafe, fem
@R SRR

(C) @R FAC6Y, fafsoe], G,
SIfAE T @R AIFOLET

AN

(D) &IF AT, RS, (Ao,
T2 G2 SifATEIa

45. T35 2oy’ (R %95) @ = &by’ (¥ 295)
93 G ¢ FFfo-ORl-ENETIG-2for 93
ATOCGH S (@ I Ao ©f 231

(A) STEEHI aifelk
(B) weerdiey afik
(C) SREBE afek
(D) Il anf

[ S e gV o

46. HfTie FNRaerR Sge RAn e
e

48, 24,72, 36, 108, ?
(A) 115
(B) 216
(C) 121
(D) 54
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47. Match the Items of List-I with the Items of
List-1I and indicate your answer by selecting
appropriate code based on their

relevance.
List-1 List-11
(a) Blue Jeans (i) Eric Yuan
Network (2009)
(b) GoTo Meeting (i) Citrix Systems/
(2004) Citrix Online

(c) WebEx Messaging(iii)Krish Ramakrishnan

(WebEXx) (1995) & Alagu Periyannan
(d) Zoom Video (iv) CISCO

(2011)

Codes:

(@ ® (© @
(A) @G @G @Gv) @)
B) Gi) G Gv) @
© @G aGv) @ (D)
D) Gv) G @O (D)

48. The credit of coining the term ‘Sustainable
Development’ should be given to:
(A) Brundlandt Commission (1987),
WCED
(B) Eva Balfour and Wes Jackson
(C) Colin Powel
(D) Daniel Pauly and Rashid Sumaila

49. Spotting errors and
inconsistencies in data is called:
(A) Data testing
(B) Data weighing
(C) Data cleansing
(D) Data correcting

resolving

47. SIfTp- @32 Oferp-11-93 Ny ANeT [aie
e 3R APHE TERMDF oS TR (ol et

©ifere-l ©ifere-l
(a) g &M (ToeaF (i) @5 Taw
(2009)
(b) GoTo fuifoe (i) B1iow Pieswy/
(2004) il oweTe |

(c) SR (IR (iii) Ta e @)
(WebEx) (1995) e (AR
(d) g f&f@e (2011) (iv) PP (CISCO)
@?:
@ (b)) (© (@
(A) (i) Gi)  Gv) @)
B) @Gi) @) Gv) @)
(C©) @iy @Gv) (@) (ii)
D) (Gv) Gi) @G (i)

48. APHINGIS (Creasars
BT Phog (el Tho—

(A) FFGeTII®G S (1987), WCED

(B) TS| IAFCHIT QIR ST ST

(C) Jfom fler@

(D) Trfce «ifer @2k afm Twiza

49. (TGl (data )-3 TH G SPTHNOE BeF®
AL FAE 61 -
(A) (@Gl GFBR
(B) (TG G2}
(C) (©b! @GR
(D) (®b! FIER
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50. Whatdoes ‘NAMA’ stand forin the context
of climate change?
(A) Nationally Appropriate Mitigation
Action
(B) National Assessment on
Millennium Achievement
(C) Nuclear Appropriate Mitigation
Assessment
(D) National Airspace Management Actor

50. e YIS @I NAMA® *=% J

(R 2

(A) =emifer scenfas Wibtemm
SR

(B) THE SHCPGIS S SN
ifbeGErs

\©
(©) frefgam wmeaifawt fbese
SHCPIGIG
(D) TS G2 GITSTs SHEa
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